Fl S HBON Eé(\/\;‘@?%\(& INSTALLATION INSTRUCTIONS

OFFROAD PART No. FB31456

Jeep® JL Wrangler & JT Gladiator
JL & JT Elite Fender LED Turn Signal

P

)

VIDEO AVAILABLE

REQUIRED TOOLS KIT CONTAINS Qry

3mm Allen FB61452 LED Turn Signal 2
8mm Wrench LED Retaining Bracket 2
Philips Screwdriver M5 30mm Button Head Bolt 4
M5 Flat Washer 4

M5 Lock Washer 4

Note: These instructions will NOT M5 Nut 4
cover how to remove factory Power Wire 2

fenders or inner fenders, and will
NOT cover how to install inner
fenders. Instructions on how to
do so are available on
www.FishboneOffroad.com, or
www.FishboneOffroad.tv .

3145600

990 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM


http://www.fishboneoffroad.com/
http://www.fishboneoffroad.tv/

A\

\\)
Fl S H B O N Eég}% INSTALLATION INSTRUCTIONS
(S

OFFROAD PART Ne. FB31456

Jeep® JL Wrangler & JT Gladiator
JL & JT Elite Fender LED Turn Signal

1) REMOVE
Begin by removing any factory inner and outer
fenders your vehicle currently has installed, and
install your Elite Outer Fenders. We show how to
remove your factory fenders over at
www.FishboneOffroad.tv Please refer to the

included installation instructions for Part# FB23454F
& FB33455F.

This helps the nut stay in place after installing. Insert
(2) nuts into the rail, followed by rotating them clock
wise.

2) PREPARE
Begin installing the hardware into the LEDs. The
included nuts have a unique shape, and install into
the LEDs rear rail in a specific way. Each angle of the
plate shares the shape of its counter corner: pointed
and rounded.

3145600

990 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM


http://www.fishboneoffroad.tv/

A

FISHBON E%@%& INSTALLATION INSTRUCTIONS

OFFROAD PART No. FB31456

Jeep® JL Wrangler & JT Gladiator
JL & JT Elite Fender LED Turn Signal

P

)

Loosely install the retaining brackets using the
included bolts and washers with a Philips
screwdriver. Be sure to plan out which LED will go on
which side of the vehicle. The two flanges on the
brackets will need to point up. Ensure the power
wire points towards the inside of the engine bay.
Connect the power wires to the LED base.

Ensure the light is centered, and tighten down the
bolts from Step 2.

Finally, connect the light to the factory wiring
harness.

3) INSTALL TURN SIGNALS
Open the hood of the vehicle, and run the power
wire around the inner fender and up towards the
top.

Insert the LED into the opening while being sure that
the retaining flanges are on the outside of the fender
brackets. Secure the brackets with the hardware
that came with the Elite Fenders with a 3mm allen
wrench and an 8mm wrench.

3145600

990 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM



